
1)
Find the next three numbers in 
the sequence
64,68,272,276,1104,1108,4432__,__,__

Answer: ____________

2) Find the range of the following set of data:

1, 0.5, 9, 15, 0.9, 7, 0.2, 15

Answer: ____________

3) 1941.2 - 2394.1

Answer: ____________

4) 3 + 19 - (1 - 12)

Answer: ____________

5) 6545 + (-3850)

Answer: ____________

6)
40  Find Volume of 
                         Square Pyramid 

38
38

Answer: ____________

7) Find the mode of the following set of data:

84, 84, 84, 62, 62, 18, 18, 18, 56, 
56, 56, 56, 56, 94, 94, 94, 94, 94, 94

Answer: ____________

8) 32/
19 ÷ 29

/3

Answer: ____________

9) 4070 ÷ 74

Answer: ____________

10) Increase 27 by 2/9

Answer: ____________

11) 'What is the probability of rolling a 
multiple of 2.when rolling a dice

Answer: ____________

12)
39  Find Volume of Cone 

37

Answer: ____________

13) Round 20.4619245 to the nearest 
1000

Answer: ____________

14) Find the median of the following set of data:

24, 33, 20, 6, 33, 15, 39, 22, 3, 2, 
20, 34, 37, 15, 11, 18, 39, 39, 17, 25

Answer: ____________

15) 6111 x 9198

Answer: ____________
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16) (-7026) - 4275

Answer: ____________

17) 251/4 x 4010/13

Answer: ____________

18) b

a o c
Measure angle boa 

Answer: ____________

19) 21   11/16 - 20   8/9

Answer: ____________

20) 913/17 ÷ 52/14

Answer: ____________

21)
39

Volume of Cone 
39

Answer: ____________

22) 6395 x 5663

Answer: ____________

23) (-79) x (-98)

Answer: ____________

24) (-79) x (-98)

Answer: ____________

25)

Name the type of angle.

Answer: ____________

26) 24/
15 ÷ 2/19

Answer: ____________

27) 21/9 + 8/2

Answer: ____________

28) 2203 + (-6322)

Answer: ____________

29) 8077 + 9489

Answer: ____________

30) Find the mode of the following set of data:

11, 11, 11, 11, 11, 11, 11, 24, 24, 
24, 18, 18, 18, 18, 18, 18, 28, 28, 
28, 28, 28, 28, 28

Answer: ____________
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31) 3477 ÷ 57

Answer: ____________

32) Find perimeter of 
rectangle having 
sides a = 8471 cm 
and b = 2662 cm

Answer: ____________

33) Round 17.345557 to the nearest 
10000

Answer: ____________

34) Round 30.2260 to 2 decimal places.

Answer: ____________

35)
41  Find Volume of Cone 

40

Answer: ____________

36) Find perimeter of 
rectangle having 
sides a = 5112 m 
and b = 5058 m

Answer: ____________

37) (-4158) ÷ 63

Answer: ____________

38) 31/3 - 12/18

Answer: ____________

39) 233/14 ÷ 197/8

Answer: ____________

40) 8708 - (-5595)

Answer: ____________

Total: ___ / 40
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Answers:

1) 4436,17744,17748, 2) 14.8 3) -452.9 4) 33 5) 2695 6) 19253.333333333 7) 94

8) 96/551 9) 55 10) 33 11) 1/2 12) 13977.731113984 13) 20.462 14) 11

15) 56208978 16) -11301 17) 102911/

26
18) 146 19) 115/144 20) 1275/306 21) 62118.711539431

22) 36214885 23) 24) 25) Acute 26) 151/5 27) 61/3 28) -4119

29) 17566 30) 11 31) 61 32) 22266cm 33) 17.3456 34) 30.23 35) 17174.039839624

36) 20340m 37) -66 38) 92/3 39) 1187/1113 40) 14303
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